N of reco track vs dxy(PV)

5 =56-15-10 5 0 5 10 15 20 2

0.

N of associated (recoToSim) tracks vs dxy(PV)

5 =26-15-10 -5 0 5 10 15 20 25

10?

Ly

S5=50-15-10 -5 0 5 10 15 20

N of associated (recoToSim) looper tracks vs dxy(PV)

5 =26-15-10 =5 0

5 0 o 25 0 5716 15 20 2
——— DQM_TT__mKFit-DQM_
[Nofrecowackvsd —— DQM_TT___mkFit-DQM_adjusted —

TR A
GG

._‘_4444 P

N of reco track vs dz(PV)

-20 -10 O 10

N of reco track vs dz(PV)

30

10°

1.U9)

DT AT
L

=

H_____ Py

©
i

N of associated (recoToSim) tracks vs dz(PV) |

-20 -10 0 10 20 30

N of associated (recoToSim) tracks vs dz(PV) |

e

‘|I|E|||||I|||I|||I|| i
1 -0.5 0 .

10

JiHH H:
AN,

i

30

5

10

0.954 HHH‘HH HHHHHH HHHHHHHHH

>1-0.8-0.6-0.402 0 0.2 0.4 0.6 0.8

N of associated (recoToSim) looper tracks vs dz(PV) |

=30 -20 -10 0

N of associated (recoToSim) looper tracks vs dz(PV)

o MGG |




	Contents
	Page 1


